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EXERCISE 11.1 - Question No. 1

If a line makes angles 90°, 135°, 45° with the x, y and z-axes

respectively, find its direction cosines.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.1 - Question No. 2

Find the direction cosines of a line which makes equal angles with

the coordinate axes.


https://doubtnut.app.link/bHlOXaxsZV
https://doubtnut.app.link/FEL8zFdV0V
https://doubtnut.app.link/hREZ0GdV0V

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.1 - Question No. 3

If a line has the direction ratios 18, 12, 4 , then what are its

direction cosines?

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.1 - Question No. 4

Show that the points (2, 3, 4), (1, 2, 1), (5, 8, 7) are collinear.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.1 - Question No. 5


https://doubtnut.app.link/hREZ0GdV0V
https://doubtnut.app.link/hQVYyKdV0V
https://doubtnut.app.link/SujZWLdV0V
https://doubtnut.app.link/ukDVAPdV0V

Find the direction cosines of the sides of the triangle whose vertices

are (3,5,4),(1,1,2) and (5, 5, 2) .

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 1

Show that the three lines with direction cosines

12 -3 -4 4 12 3 3 —4 12
13’ 13 13° 1371313’ 13" 13’ 13

are mutually

perpendicular.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 2


https://doubtnut.app.link/ukDVAPdV0V
https://doubtnut.app.link/jAtJ9SdV0V
https://doubtnut.app.link/XEVCyUdV0V

Show that the line through the points (1, 1, 2), (3, 4, 2) is

perpendicular to the line through the points (0, 3, 2) and (3, 35, 6).

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 3

Show that the line through the points (4, 7, 8), (2, 3, 4) is parallel

to the line through the points (1, 2,1) ,(1, 2, 5) .

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 4


https://doubtnut.app.link/XEVCyUdV0V
https://doubtnut.app.link/4gZj0VdV0V
https://doubtnut.app.link/aB22nXdV0V

Find the equation of the line which passes through the point (1, 2,

3) and 1s parallel to the vector 37+ 25 — 2k .

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 5

Find the equation of the line in vector and in cartesian form that
passes through the point with position vector 21 — j + 4k and is in

the direction ¢ + 23’ — k.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 6


https://doubtnut.app.link/aB22nXdV0V
https://doubtnut.app.link/gwIjMYdV0V
https://doubtnut.app.link/VsmW6ZdV0V

Find the cartesian equation of the line which passes through the

point (2, 4, 5) and parallel to the line given by

x+ 3 y—4 z+ 8

3 5 6

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 7

r—>5 y+4 z—06

The cartesi tion of a line 1
¢ cartesian equation of a line 1s — . 5

Write 1its vector form.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 8


https://doubtnut.app.link/VsmW6ZdV0V
https://doubtnut.app.link/XybXu1dV0V
https://doubtnut.app.link/H8gNV2dV0V

Find the vector and the cartesian equations of the lines that passes

through the origin and (5, 2, 3) .

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 9

Find the vector and the cartesian equations of the line that passes

through the points(3, 2, 5), (3, 2, 6) .

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 10


https://doubtnut.app.link/H8gNV2dV0V
https://doubtnut.app.link/3zMEk4dV0V
https://doubtnut.app.link/z9XhS5dV0V

Find the angle between the following pairs of lines: (i)
— 7 =21 ~5)+k+A(3 +2j + 6k) and
= =78 — 6k + (i + 2] + 2k) (i)

_>7~:37A;+3’—21Ac+)\(;j—3—2]%)and‘—

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 11

Find the angle between the following pair of lines: (1)

r—2 y-—1 z4+ 3 r+2 y—4 z—95

2 5~ —g ad—— g~ 4 W
r Yy oz dw—5_y—2_z—3
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Watch Free Video Solution on Doubtnut Now @
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https://doubtnut.app.link/oEkAq9dV0V

EXERCISE 11.2 - Question No. 12

1 — Ty — 14 —3
Find the values of p so that the lines t_ Y _Z
3 2p 2

7= — 5 6 —
and Lo _ YT © are at right angles.
3p 1 5

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 13

Show that the lines * = ~——— = —and T_I_Z are

perpendicular to each other.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 14



https://doubtnut.app.link/zcUFZceV0V
https://doubtnut.app.link/otDkGheV0V
https://doubtnut.app.link/mRAcDmeV0V

Find the shortest distance between the lines

= (%+23‘+I%)+>\(%—3+l%)and

—>r:2%—3—l%+u(2f2+3‘+2/%)

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 15

Find the shortest distance between the lines

x+ 1 y+1 z+1 d:c—3 Yy— 9 z2—17
= - = an —
7 —6 1 1 —2 1

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 16



https://doubtnut.app.link/mRAcDmeV0V
https://doubtnut.app.link/UZSaireV0V
https://doubtnut.app.link/PoLoQseV0V

Find the shortest distance between the lines whose vector equations
are — r = (’Ai—|—2§'—|—3fc> —|—)\(7Aj —33’—|—2]A~c) and

—>r:4%+53+61%+u(2%+33‘+l%).

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.2 - Question No. 17

Find the shortest distance between the lines whose vector equations

are —r = (1—1t)i+ (t —2)7+ (3 — 2t)kand

—r=(s+1)i+(2s—1)7 — (25 + 1)k

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.3 - Question No. 1


https://doubtnut.app.link/PoLoQseV0V
https://doubtnut.app.link/pwT5nweV0V
https://doubtnut.app.link/MyDeayeV0V

In each of the following cases, determine the direction cosines of
the normal to the plane and the distance from the origin. (a) z = 2

b)z+y+2z=1()2z+3yz=5()5y+8=0

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.3 - Question No. 2

Find the vector equation of a plane which 1s at a distance of 7 units

from the origin and normal to the vector 31 + 55 — 6k .

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.3 - Question No. 3


https://doubtnut.app.link/MyDeayeV0V
https://doubtnut.app.link/H55IGzeV0V
https://doubtnut.app.link/BuFgCBeV0V

Find the Cartesian equation of the following planes: (a)

Sri+j—k=2(0) = r2i +3j— 4k =1 (c)

—r(s—20)i+ (B3 —t)j+ (2s+t)k =15

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.3 - Question No. 4

In the following cases, find the coordinates of the foot of the
perpendicular drawn from the origin. (a) 2 + 3y + 4212 = 0 (b)

Jy+426 =0(c)c+y+2=1d)dy+8=0

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.3 - Question No. 5


https://doubtnut.app.link/BuFgCBeV0V
https://doubtnut.app.link/TwElgGeV0V
https://doubtnut.app.link/12wjKHeV0V

Find the vector and cartesian equations of the planes (a) that passes
through the point (1, 0, 2) and the normal to the plane is i + 3 —k
(b) that passes through the point (1,4, 6) and the normal vector to

the plane is

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.3 - Question No. 6

Find the equations of the planes that passes through three points.

(a)(1,1,-1),(6,4,-5),(-4,-2,3)

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.3 - Question No. 7


https://doubtnut.app.link/12wjKHeV0V
https://doubtnut.app.link/gz129IeV0V
https://doubtnut.app.link/rZjBCKeV0V

Find the intercepts cut off by the plane 2z + yz = 5.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.3 - Question No. 8

Find the equation of the plane with intercept 3 on the y-axis and

parallel to ZOX plane.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.3 - Question No. 9

Find the equation of the plane through the intersection of the planes

3r —y+22—4=0andx + y + z— 2 = 0 and the point (2, 2,


https://doubtnut.app.link/rZjBCKeV0V
https://doubtnut.app.link/IQGYfOeV0V
https://doubtnut.app.link/tZUeQReV0V

).

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.3 - Question No. 10

Find the vector equation of the plane passing through the

intersection of the planes
— 721 + 2] — 3k = 7, — 12% + 57 + 3k =9 and through the

point (2, 1, 3).

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.3 - Question No. 11


https://doubtnut.app.link/tZUeQReV0V
https://doubtnut.app.link/zoOGbTeV0V
https://doubtnut.app.link/Y96AJUeV0V

Find the equation of the plane through the line of intersection of the
planes x + y + z = 1 and 2z + 3y + 4z = 5 which is

perpendicular to the planexy + z = 0.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.3 - Question No. 12

Find the angle between the planes whose vector equations are

7. (25:+23—31%) — 5and 7. (3%—33+5/%) — 3.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.3 - Question No. 13


https://doubtnut.app.link/Y96AJUeV0V
https://doubtnut.app.link/14SEmWeV0V
https://doubtnut.app.link/G7kwNXeV0V

In the following cases, determine whether the given planes are
parallel or perpendicular, and in case they are neither, find the
angles between them. (a)

7Tt +5y+62+30=0and 3z —y — 10z + 4 = 0 (b)

2c +y+32—2=0and z — 2y + 52z = 0(c)

20 —2y+42+5=0and 3z — 3y + 62— 1 = 0(d)

20 —y+3z—1=0and 2x —y+ 32+ 3 = 0(e)
dr+8y+z2z—3=0and y+2—4=0

Watch Free Video Solution on Doubtnut Now @

EXERCISE 11.3 - Question No. 14


https://doubtnut.app.link/G7kwNXeV0V
https://doubtnut.app.link/W7JmgZeV0V

In the following cases, find the distance of each of the given points
from the corresponding given plane. Point Plane (a) (0, 0, 0)

3xdy + 122 =3 (b) (3,2,1) 22y + 22+ 3 = 0(¢c) (2,

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 1

Show that the line joining the origin to the point (2, 1, 1) is

perpendicular to the line determined by the points(3, 5, 1) ,(4, 3, 1)

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 2


https://doubtnut.app.link/W7JmgZeV0V
https://doubtnut.app.link/Ne4cH0eV0V
https://doubtnut.app.link/sPUze2eV0V

If l;, mq, ny and Iy, my, ny are the direction cosines of two
mutually perpendicular lines, show that the direction cosines of the
line perpendicular to both of these are

ming — mony, n1l2 — nzlh llmz — lzml .

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 3

Find the angle between the lines whose direction ratios are a, b, ¢

and bc, ca, ab .

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 4


https://doubtnut.app.link/sPUze2eV0V
https://doubtnut.app.link/duyc16eV0V
https://doubtnut.app.link/9CbWo8eV0V

Find the equation of a line parallel to x-axis and passing through

the origin.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 5

If the coordinates of the points A, B, C, D be (1,2, 3), (4,5,7),
(4, 3,6) and (2, 9, 2) respectively, then find the angle between the

lines AB and CD.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 6


https://doubtnut.app.link/9CbWo8eV0V
https://doubtnut.app.link/QNGJ3bfV0V
https://doubtnut.app.link/6RuItdfV0V

, x— 1 Yy — 2 z—3
If the lines s T Top T 3 and

i 3k yT = z_ : are perpendicular, find the value of k.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 7

Find the vector equation of the line passing through (1, 2, 3) and

perpendicular to the plane 7. (;, + 27 — 5]%) +9=0.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 8


https://doubtnut.app.link/6RuItdfV0V
https://doubtnut.app.link/JtBU7efV0V
https://doubtnut.app.link/sOkBzgfV0V

Find the equation of the plane passing through (a, b, ¢) and parallel

A

to the plane — ri + j+k = 2.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 9

Find the shortest distance between lines

— T

6%+23+IA€+)\(7A§—23+2?@) and

= —4%—l%+u(3%—23—2/%).

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 10


https://doubtnut.app.link/sOkBzgfV0V
https://doubtnut.app.link/hWczbkfV0V
https://doubtnut.app.link/77eyJnfV0V

Find the coordinates of the point where the line through (5, 1, 6)

and (3, 4,1) crosses the YZ-plane.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 11

Find the coordinates of the point where the line through (5, 1, 6)

and (3, 4, 1) crosses the ZX-plane.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 12


https://doubtnut.app.link/77eyJnfV0V
https://doubtnut.app.link/y19whrfV0V
https://doubtnut.app.link/w4j6HsfV0V

Find the coordinates of the point where the line through (3, 4, 5)

and (2, 3, 1) crosses the plane2z +y + z = 7.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 13

Find the equation of the plane passing through the point (1, 3, 2)
and perpendicular to each of the planes « + 2y + 3z = 5 and

3r +3y+2=0.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 14


https://doubtnut.app.link/w4j6HsfV0V
https://doubtnut.app.link/FuAL9tfV0V
https://doubtnut.app.link/TqhUKxfV0V

If the points (1, 1, p)and(3, 0, 1) be equidistant from the plane

7 . (3;; + 43 — 12]%) + 13 = 0, then find the value of p.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 15

Find the equation of the plane passing through the line of
intersection of the planes — ri + j + k= 1and

— 72i + 3] — k+4=0and parallel to x-axis.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 16


https://doubtnut.app.link/TqhUKxfV0V
https://doubtnut.app.link/2YCkazfV0V
https://doubtnut.app.link/iZYjAAfV0V

If O be the origin and the coordinates of P be(1, 2, — 3), then find
the equation of the plane passing through P and perpendicular to

OP.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 17

Find the equation of the plane which contains the line of
intersection of the planes
5 ri4+2j+3k—4=0, > r2i + j — k+ 5 = 0 and which

1s perpendicular to the plane

Watch Free Video Solution on Doubtnut Now @


https://doubtnut.app.link/iZYjAAfV0V
https://doubtnut.app.link/xQHY9BfV0V

MISCELLANEOUS EXERCISE - Question No. 18

Find the distance of the point (1, 5, 10) from the point of
intersection of the line — r = 27 — j + 2k + )\(3;3 + 47 + 2]%)

and the plane — r = (% —3—|—I%) =9.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 19

Find the vector equation of the line passing through (1, 2, 3) and
parallel to the planes — ri — j + 2k = 5 and

—7r3i+j+k=6.

Watch Free Video Solution on Doubtnut Now @


https://doubtnut.app.link/7KkeCDfV0V
https://doubtnut.app.link/X4eceHfV0V
https://doubtnut.app.link/u1Y8RKfV0V

MISCELLANEOUS EXERCISE - Question No. 20

Find the vector equation of the line passing through the point

(1,2, — 4) and perpendicular to the two lines:

r—8 y+19 z-10 dm—15_y—29_z—5
3~ _16 7 Mg T g T j

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 21

Prove that if a plane has the intercepts a, b, ¢ and 1s at a distance of

1 1 1 1
p units from the origin, then — + - + — = —

b2 pz '

Watch Free Video Solution on Doubtnut Now @


https://doubtnut.app.link/u1Y8RKfV0V
https://doubtnut.app.link/ltw5lMfV0V

MISCELLANEOUS EXERCISE - Question No. 22

Distance between the two planes: 2x + 3y + 4z = 4 and

2
4o+ 6y + 82 = 12 is (A) 2 units (B) 4 units () 8 units (D) ——

units

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 23

The planes: 2xy + 4z = Sanddx2. 5y + 10z = 6 are (A)

Perpendicular (B) Parallel (C) intersect y-axis (D) passes through

OO5
774

Watch Free Video Solution on Doubtnut Now @


https://doubtnut.app.link/9AKKXNfV0V
https://doubtnut.app.link/opk2lPfV0V
https://doubtnut.app.link/GWAS9QfV0V

SOLVED EXAMPLES - Question No. 1

If a line makes angle 900 , 600 and 300 with the positive direction

of X, y and z-axis respectively, find its direction cosines.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 2

If a line has direction ratios 2, 1, 2.determine its direction cosines.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 3


https://doubtnut.app.link/GWAS9QfV0V
https://doubtnut.app.link/DLX1kVfV0V
https://doubtnut.app.link/NBnRPWfV0V

Find the direction cosines of the line passing through the two points

(2,4, 5) and (1,2, 3) .

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 4

Find the direction cosines of X, y and z-axis.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 5

Show that the points A(2, 3, 4) , B(1, 2, 3) and C(3, 8, 11) are

collinear.


https://doubtnut.app.link/NBnRPWfV0V
https://doubtnut.app.link/iDAno0fV0V
https://doubtnut.app.link/hhsm03fV0V

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 6

Find the vector and the Cartesian equations of the line through the

point (5, 2, 4) and which is parallel to the vector 3z + 27 — 8k .

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 7

Find the vector equation for the line passing through the points

(1,0, 2) and (3, 4, 6) .

Watch Free Video Solution on Doubtnut Now @


https://doubtnut.app.link/hhsm03fV0V
https://doubtnut.app.link/YgzNp5fV0V
https://doubtnut.app.link/WJXLR6fV0V

SOLVED EXAMPLES - Question No. 8

The Cartesian equation of a line is = = =

Find the vector equation for the line.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 9

Find the angle between the pair of lines given by

7:3%+23—4I%+>\(%+23+212)and

7:5%—23+u(3%+23+6l%).

Watch Free Video Solution on Doubtnut Now @



https://doubtnut.app.link/k749k8fV0V
https://doubtnut.app.link/xDy1L9fV0V

SOLVED EXAMPLES - Question No. 10

Find the angle between the pair of lines

r+3 y—1 z+3 da:+1_y—4_z—5
3 5 4 U1 T 1 T 2o

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 11

Find the shortest distance between the lines 11 and 12 whose vector
equations are — 7 = ¢ + j + )\(2%’ — i+ IAC) (1) and

Watch Free Video Solution on Doubtnut Now @


https://doubtnut.app.link/6J2icbgV0V
https://doubtnut.app.link/sIAxEcgV0V

SOLVED EXAMPLES - Question No. 12

Find the distance between the lines [; and [ given by

— T

%+23—4k+)\(2%+33+6l%) and

— T

3%+33—5k+u(2%+33+6ic).

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 13

Find the vector equation of the plane which 1s at a distance of

6
V29
from the origin and its normal vector from the origin 1s

27 — 33’ + 4k . Also find its cartesian form.

Watch Free Video Solution on Doubtnut Now @
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https://doubtnut.app.link/nQV5yfgV0V
https://doubtnut.app.link/LLoe0ggV0V

SOLVED EXAMPLES - Question No. 14

Find the direction cosines of the unit vector perpendicular to the

plane — 61 — 35 — 2k+1=0 passing through the origin.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 15

Find the distance of the plane 2z3y + 426 = 0 from the origin.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 16


https://doubtnut.app.link/LLoe0ggV0V
https://doubtnut.app.link/0zeqCigV0V
https://doubtnut.app.link/6hMtfkgV0V

Find the coordinates of the foot of the perpendicular drawn from

the origin to the plane 2z — 3y + 42— 6 =0.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 17

Find the vector and cartesian equations of the plane which passes
through the point (5, 2, 4) and perpendicular to the line with

direction ratios (2, 3,1) .

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 18


https://doubtnut.app.link/6hMtfkgV0V
https://doubtnut.app.link/Ll4qJlgV0V
https://doubtnut.app.link/KiEMspgV0V

Find the vector equations of the plane passing through the points

R(2,5,3), 5(2,3,5) and T(5, 3, 3) .

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 19

Find the equation of the plane with intercepts 2, 3 and 4 on the x, y

and z-axis respectively.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 20


https://doubtnut.app.link/KiEMspgV0V
https://doubtnut.app.link/gSLmRqgV0V
https://doubtnut.app.link/qWZbgsgV0V

Find the vector equation of the plane passing through the
intersection of the planes — ri+ J + k = 6 and

— 727 + 3j + 4k = — 5 and the point (1, 1, 1).

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 21

:1:—|—3_y—1_z—5and
-3 1 5

z+1 y— 2 zZ—09
=5 =& are coplanar.

Show that the lines

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 22


https://doubtnut.app.link/qWZbgsgV0V
https://doubtnut.app.link/an8dEtgV0V
https://doubtnut.app.link/Nwm7YugV0V

Find the angle between the two planes 2z + y2z = 5 and

3x6y2z = 7 using vector method.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 23

Find the angle between the two planes 326y 4+ 2z = 7 and

2¢ + 2y2z = 5.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 24


https://doubtnut.app.link/Nwm7YugV0V
https://doubtnut.app.link/JtKPmwgV0V
https://doubtnut.app.link/v8onXzgV0V

Find the distance of a point (2, 5, 3) from the plane

761 — 37 +2k=4.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 25

1 — 3
Find the angle between the line s % ©

5 = 6 and the

plane 10z + 2yllz = 3.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 26


https://doubtnut.app.link/v8onXzgV0V
https://doubtnut.app.link/zVy4kBgV0V
https://doubtnut.app.link/F1MXHCgV0V

A line makes angles «, 8, v and 0 with the diagonals of a cube,

4
prove that cos* a + cos? 8 4 cos®y 4 cos?§ = —

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 27

Find the equation of the plane that contains the point (1, 1, 2) and
1s perpendicular to each of the planes 2z + 3y2z = 5 and

r + 2y3z = 8.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 28


https://doubtnut.app.link/F1MXHCgV0V
https://doubtnut.app.link/mL5G5DgV0V
https://doubtnut.app.link/IdcyuFgV0V

Find the distance between the point P(6, 5, 9) and the plane

determined by the points A(3,1,2), B(5,2,4) and C(1, 1,6) .

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 29

xr—a-+d Yy — a z—a—d
— — and
a— 90 Q a+ 90

r—b+c y—-b z-b-c
— < 7 _ are coplanar.

B—n p B+

Show that the lines

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 30


https://doubtnut.app.link/IdcyuFgV0V
https://doubtnut.app.link/foaRQGgV0V
https://doubtnut.app.link/FP5opKgV0V

Find the coordinates of the point where the line through the points

A (3,4,1)and B(5, 1, 6) crosses the XY-plane.

Watch Free Video Solution on Doubtnut Now @


https://doubtnut.app.link/FP5opKgV0V
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